REMOVABLE SIDE GUARDS COILOURS |Ver 1 |1001/12

I N m o T 1 o n~ |Section 3100

\
\
)
I
]
I
!
I
|
I
I
I
I
I
|
I
I
|
|
I
I
|

:

\

-—4-—=20\

_m\\
\

STD ABS
RIGHT SIDE

i STD ABS
B 5t 7 St LEFT SIDE

v

e e e
-

r—

MEDIUM ABS
LEFT SIDE

ji MED!%LS\

= RIGHT SIDE

i ol |

]
I
I
{

[ SRS

MEDIUM ALUMINUM
RIGHT SIDE

e

POS Assy# # Parts# atY Coor Remark MSRP NOTE QPOs Assy# # Parts# arv color Remark MSRP  Note
1 15

0458-100 2 | BIk | side Guard Removable Receiver 0458-410-L | 1 | Blk | Aluminum Medium LH
A | 3100-01A| 2 | 0318-307 4 | Sil #10 Washer $65/set | 1sets/chair 16| 0458-410-R | 1 | Blk | Aluminum Medium RH
3 0262-300 4 | Sil | #10-32 L:1" SHCS 4 0458-120 2 | Blk | Side Guard Removable Mount 1sets/chair
4 0458-120 2 | BIK | Side Guard Removable Mount E | 3100-01E| 5 0318-307 8 | Sil #10 Washer $155/set Black Color
5 0318-307 8 | Sil #10 Washer . 7 0505-300 4 | Sil |#10-32 L:7/16" FHPS
B | 3100-01B 5102097310 | 4 | Sil [#10-32 L1z Frips| o0/set [ 1sets/chair 8 | M-1690-170| 2 |wnie|  Big C-Logo
7 0505-300 4 | Sil |#10-32 L:7/16" FHPS 17| 0451-200 2 | Blk| Side Guard Trim
11| 0093-302-L | 1 | Blk ABS STD LH 191 0458-400-L | 1 [ Pol|Aluminum Medium LH
121 0093-302-R| 1 | Blk ABS STD RH 20| 0458-400-R | 1 | Pol| Aluminum Medium RH
C |3100-01C| 4 | 0458-120 | 2 | Bk side Guard Removavle Mount| $115/set | 1sets/chair 4| 0458-120 | 2 [ Blk | side Guard Removable Mount 1sets/chair
5 0318-307 8 | Sil #10 Washer F | 3100-01F | 5 0318-307 8 | Sil #10 Washer $175/set Polish
6 | 0297-310 | 4 | Sil [#10-32 L:1/2" FHPS 7 | 0505-300 | 4 [ Sil[#10-32 L:7/16" FHPS Color
13| 0093-303-L | 1 | Blk| ABS Medium LH 8 | M-1690-160| 2 |Black Big C-Logo
14| 0093-303-R| 1 | Blk| ABS Medium RH 17| 0451-200 2 | Blk| Side Guard Trim
D |3100-01D| 4 0458-120 2 | Blk | Side Guard Removable Mount| $115/set | 1sets/chair
5 0318-307 8 | Sil #10 Washer
6 0297-310 4 | Sil |#10-32 L:1/2" FHPS K ]3000-010] 18| 0102-300 | 14 | Sil |#10-32 L:3/4 PHPS| $15/set
L - 10| 0451-200 1 | Blk| Side Guard Trim $6/ft 1 foot length
M - 8 | M-1690-170| 1 |white Big C-Logo $8/1pcs | 2pcs/chair
N - 9 | M-1690-160| 1 | Blk Big C-Logo $8/1pcs | 2pcs/chair
O - 22| M-1690-175| 1 |ctrome Big C-Logo $10/1pcs | 2pcs/chair




